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Definition &

IN ST T

Cost Price:
The price, at which an article is purchased, is called its cost price, abbreviated
as C.P.

Selling Price:
The price, at which an article is sold, is called its selling prices, abbreviated as S.P.

Profit or Gain:
If S.P. is greater than C.P., the seller is said to have a profit or gain.

Loss:
[f S.P. is less than C.P., the seller is said to have incurred a loss. .
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Proportion

I oS

1.Gain = (S.P.) - (C.P.)

2.Loss = (C.P.) - (S.P.)

3.Loss or gain is always reckoned on C.P.
4.Gain Percentage: (Gain %)

Gain x 100
C.P.

Gain % =
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Fourth Proportional
FITS OIS

Loss Percentage: (Loss %)

Gain x 100

Gain % = )

Selling Price: (S.P.)

_ 1 (100 + Gain %)
SP = |: 100 % C.P:|
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y Comparison of Ratios

I TIOTS

Selling Price: (S.P.)

Sp = {[100 -15355 %) " C.P} 9. Cost Price: (C.P.)

) 100
GHE: = {HOD - Loss %) X S.P}

[ )

Cost Price: (C.P.)

100
ke = |:{1EJD + Gain %) S.P}
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Duplicate Ratios

1.If an article is sold at a gain of say 35%, then S.P. = 135% of C.P.
2.1f an article is sold at a loss of say, 35% then S.P. = 65% of C.P.

3.When a person sells two similar items, one at a gain of say x%, and the other
at a loss of x%, then the seller always incurs a loss given by:

10

2 2
Common Loss and Gain %} _ [A_}
10 - '

Loss % = {

4. If a trader professes to sell his goods at cost price, but uses false weights, .

then Error
[ nc- = E:"';:-.
i (True Value) - (Error) 2
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Variations

e

1.Alfred buys an old scooter for Rs. 4700 and spends Rs. 800 on its repairs. If he
sells the scooter for Rs. 5800, his gain percent is:

® dg% Answer: Option
Explanation:
5%% Cost Price (C.P.) = Rs. (4700 + 800) = Rs. 5500.
® 10% Selling Price (S.P.) = Rs. 5800.
® 12% Gain = (S.P.) - (C.P.) = Rs.(5800 - 5500) = Rs. 300.

HE . T ﬂ o — En
Gain % = [55[.‘1{3 X maJ Yo = 5‘11'{3
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Example O

.The cost price of 20 articles is the same as the selling price of x articles. If tHé PR
is 25%, then the value of x is:

1. 15

2. 16 [zo-x:{m[}:zs}

3. 18 !

4. 25 = 2000 - 100x = 25x
125x = 2000

Answer: Option = x =16.

Explanation:

Let C.P. of each article be Re. 1 C.P. of x articles = Rs. x.
S.P. of x articles = Rs. 20.

Profit = Rs. (20 - x). .
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Example

FITY IO 1S

3.If selling price is doubled, the profit triples. Find the profit percent.

1. 6623

2100 Answer: Option
3. 10513 Explanation:

4, 120

Let C.P. be Rs. ¥ and S.P. be Rs. y.
Then, 3(y -x)=(2y -x) =y = 2x.

Profit=Rs. (¥ - x) =Rs. (2x - x) = Rs. x.

~ Profit % = [ﬁ X ma}ﬁ: = 100%
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FITarionss

THANK YOU
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